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I Continuation of analysis of 'a nywn:
a  Question: what if an idol breaks on its own - stil forbidden?
i jpny 7 forbidden — nobody negated it
ii 57 permitted — we assume the worshipper will have given up on it — reasoning that if it can’t save itself, it
won’t be able to save him
1 Challenge (515 »): vv. 1-2 — they still worshipped 17!
(a) Defense: they worshipped the lintel on which it feel, assuming it to be stronger than 7
2 Challenge: our mwn — finding broken idols — 91mn = broken 1"y — 11OR
(a) Defense: wrong inference; should be - complete idols are 71oR, and our ono is n"3 (cf. 'R NWN)
3 Challenge to »*r. n"’s approach should inform about 0'nan’s; just as n”1 would permit nn5x »1w; so 0NN
should permit 1"y »12v
(a) Defense: in re D%y, perhaps never worshipped; and even if they were, perhaps they were Yvan;
(i) But: 1"y was certainly worshipped
(if) Therefore: 91072 pav cannot trump NTAY 'R
1. Challenge: (to premise of 'RT1 10 X1 pao PR): from NRW 1an (we regard food as Wyn
a. Defense: in that case, it is 'RT1 that he separated n"7n based on ...xX1n 920 PR :AptN
b. Or: perhaps food was never 2n as per RYWIR '7’s “advice”
2. Challenge: story of nnaw who had a miscarriage and a 1n3 looked into pit to see if it was napa/at
a. Ruling: vnan declared him mnv (‘tho there was a %91 'R ™)
b. Defense: we don’t even know if she “birthed” anything — he was checking for that, and if
a real fetus, if it was male or female
c.  Or: since there were wild animals there, they certainly dragged it away
3. Challenge: our mwn — if a broken hand or foot is found — 7ox
a. In spite of: pav that he may have negated it
b. Answer; as per YR1v (above, p. 34) — only if they are on the stand (certainly not Yv1an)
4 Challenge: an n"2y can negate his own — and others’ — 1"y; Y87 cannot negate 1"y of an 0"
(a) Question: why not consider it like a “self-broken” 1"p?
(b) Answerl (»aK): case where he physically squashed the 1"y
(i) Block: mwn teaches that if he squashes it, even if nothing is missing — Y01
(if) Answer: that only applies if D13y squashes it; Y87’s smashing isn’t sufficient
(c) Answer2 (827): if a Y87 squashes it — Y01; but as a precaution against him lifting it first (making it 1"y
987w’ 71 which can never be negated)
5  Challenge: if n™2y brings Mercury-stones to pave public area — 9mn, but not Yxw>
(a) Explanation: why not consider it nyanwiv "y
(b) Answser: as per X1, above
6  Challenges: rulings that imply that Y87’s cancelling doesn’t work (incl. v. 3) all answered 82712
7 Challenge: ov "1 bans use of vegetables growing under nWR, benefiting from its droppings
(a) Answer; in that case, not considered n1anwvy, since base 1"y (tree) is still extant
(b) Block: in earlier challenge, shavings are 9mn
(i) Answer (»717 7772 82777 77): 1Y cannot be cancelled nn%m 717
8  Challenge to »*1(57): ruling that a nest in tree of WTpn - Pam RY ,PH¥ N RS, but if MWK — must cut down
(a) Answer: must be that the nest was from other wood (not from that tree); parallel to wTpn
(b) Block: in case of w1pn, could be growth after w1pn, and he holds 51131 Poyn Pr
(c) Answer2 (par12 79): “cut down” refers to chicks, not wood
(i) Explanation: chicks in both nwrY wTpn are 1Mn; eggs in both are MoR
1. »w~ 1. chicks that need the mother bird are like eggs
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